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Example 4:

A calorimeter is filled with 200 g of water at 10°C. An unknown material of mass 
80 g at 85°C is dropped into the calorimeter. The mixture reaches an equilibrium 
temperature of 20°C. Find the specific heat of the material. The specific heat of 
water is 4186 J/kg°C.
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Challenge Problem #1

A calorimeter is filled with 500g of water at 15 C. A piece of copper 
metal of mass 200 g and a temperature of 90 C is placed inside the 
calorimeter. What is the equilibrium temperature?

Specific heat copper = 387 J/kg C
Specific heat water = 4186 J/kg C
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Challenge Problem #2

A 250 g block of copper at 88 C and a 300 g block of aluminum at 75 C are 
dropped in a calorimeter with 750 g of water at 5 C. The specific heat capacity 
of copper is 387 J/kg C, the specific heat capacity of aluminum is 899 J/kg C 
and the specific heat capacity of water is 4186 J/kg C. Determine the 
equilibrium temperature reached by the mixture.
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